2018+ JEEP WRANGLER JL 3.6L

PERFORMANCE INTAKE ” ‘ MISHIMOTO

PARTS LIST & INSTALLATION GUIDE

PARTS INCLUDED

Precision Rotational-Molded Intake Tube
Precision Rotational-Molded Upper Airbox
High-Flow Air Filter (Oiled or Dry Washable)
Coupler

Zip Tie Tree-Clip

High-Torque Worm Gear Clamps

TOOLS NEEDED 2. Disconnect the intake air temperature

7mm Socket sensor from the intake tube. Release its
8mm Socket wiring harness. One clip is linked to a nearby
10mm Socket coolant hose. (3x tree-clips)

1/4" Drive Ratchet
1/4" Drive Extension

INSTALL TIME
INSTALL DIFFICULTY

DISCLAIMER

3. Remove the bolts that secure the front of the
intake tube to the radiator cover.
(2x 10mm bolts)

4. Remove the bolt that holds down the airbox.
(1x 10mm bolt)

INSTALL PROCEDURE

1. Separate the quick-disconnect from the
intake tube.

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO0.COM




2018+ JEEP WRANGLER JL 3.6L

PERFORMANCE INTAKE
INSTALLATION GUIDE

10.

11.

Loosen the clamps on each end of the intake
tube. (2x worm gear clamps)

With the intake tube loose, remove it from the
engine bay along with the airbox.

Separate the airbox lid from the bottom to
remove both the lid and panel filter. These will be
replaced by your Mishimoto airbox lid and filter.
(4x 8mm screws)

Insert the Mishimoto filter into the provided
Mishimoto airbox lid.

Attach the Mishimoto airbox lid and filter to the
bottom half. (4x 8mm screws)

Install the airbox. Be sure to engage the pegs at
the bottom.

Transfer the intake air temperature sensor
from the stock intake tube to the Mishimoto
intake tube.

MISHIMOTO |

12.

13.

14.

A7 |MISHIMOTO

Slide the included coupler over the throttle body.
(1x worm gear clamp)

Install the intake tube to the coupler and airbox.
(2x worm gear clamp)

Attach the sensor wiring to the intake tube and
coolant hose, and then reconnect the sensor. For
the Gladiator model, use the provided tree-clip zip
tie to secure the coolant hose to the intake tube.
(3x tree-clips)

15.
16.

17.

18.

Attach the quick-disconnect to the intake tube.
Hand tighten the bolts that secure the intake tube
and airbox. (3x 10mm bolts)

Check that the tube is set in place and connected
well to the airbox and coupler. Then tighten the
clamps on all your tube and coupler connections.
Tighten the bolts on the intake tube and airbox.

18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO.COM




PERFORMANCE INTAKE A7 |MISHIMOTO

INSTALLATION GUIDE

MISHIMOTO

MM2328

AIR FILTER CLAMP

MM2336

BILL OF MATERIALS
NUMBER DESCRIPTION | QUANTITY
MM2328 INTAKE TUBE 1
MM2338 AIRBOX LID 1
MM4491 COUPLER 1
MM1325-12 WORM GEAR CLAMP 2
MMI1589 | AR FILTER & CLAMP ]

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO0.COM




	MMAI-JLP-18_INSTALLATIONGUIDE
	Page 1
	Page 2
	Page 3


